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A 11675962212 Qb ® 62D 281 51.0 1019 (3 @ 9aiat  2:04.8 51.5 1242 (1) @ 3014 2:00.6 51.0 12401 (6) ® 504l 2:04.3 53.0 184 (4)
Z10:2:00.6 (231111, 51.0, 8k) =X 53 842(X) 17.948.5-16.5 / 0 72.8 - 40 8.8 | 19.1-48.86-16.4 / 3L 73.9- 4 0.7 |18.650.1-17.8 / 3 70.5- 4 86.7  17.7-51.6-17.3 / 3 71.7 - 4C 89.6
HP:2:01.9 48(1/0/0) 240310% X 201 11(1/9) 22 7 =538 1082 100 10 10 8(6/10) 29 +3 =31.1 482 | 1008 9 9(7/10) X6 43 =6.9 26= 7089 10(5/10) 28 18 =18.1 1682
1353 +S43 1 2,008 240203 & Dt & F20 =Y =20 =20 =20
eyl 2307162 & XI T 8 =0pe =t =t =t
golg SE 558 1400m S& 1400m £ 17|15
D 5 Hf% 123 3EEE 57.1% 3EEE 78.6% 3EEE 40.0% 5 =Y 1:55.7
A 38 121 8 sl & 41.7% 8 o4t 66.7% 100|184 25.0% 2 HEX 1:56.5
T 4 0= 121 100184 34.8% 100|284 56.5% 5 2y 7.7% 6 M 1:583
A 2 HEZR 116 9 ULt 333% 9 Yckn 53.3% - 1 ®X[CHE 1:59.5
1 ™X|Chs 114 1 MX|Chs 28.6% 7 B4 52.0% - 3EBEY 1:59.5
A2 1d 43 ZZ eME Ha X8 200m 7| 5621 H) ZHt 200m 7| S (621 F) HEX|
T 3EEZ 139,384t 7 WA 55,5443t 40jgzF 17.0 1 ®X[CHE 168 5 Ay 113
| 8 sl 101.1440t 1 MX|Chs 29,7440t 5 =y 172 2 HEER 169 2 HEX 105
P 9 Utk 79,844t 9 YLt 26,2440t 6 Mezl 173 7 A 17.0 6 Mezl 100
S 7 e 64.7448k 3EEY 210448k 8 i & 174 9 YULtm 17.0 3EEY 9%
1 HX| o 634440k 100|184 20,0448k 3EEY 17.7 3EcE 174 1 MR o & 95
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